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e (Goward, 2001) propose this as a replacement for the LisoSis structure. The change in stoichiometry is accounted for by
placing extra lithium atoms on the the (4c) site (1/41/41/4) and an additional (16e) site (xxx), adjusting the
stoichiometry to fit Lias; M5 or LisoMs5 as needed. Phase diagrams quoted in (Villars, 2018) support this change.
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B, = r3za; + rzas — 3rzas = —arz3X —ar3y + axsz
Bs = r3a; — 3rzas + r3as = —ar3X+arsy —axsz
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az16 X — arie S’ — X116 Z

—azig X — arie y + arig Z

—az16 X+ axr1gy — ari6 Z

alig X+ azie 5’ + arig Z

—QaXxig X+ azie y — ax1¢ Z

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)
(48h)

(48h)

(48h)
(48h)

Li X

LiX

LiX

Li X

LiX

LiX

Li X

LiX

Li XI

Li XI
Li XI

Li XI

Li XI
Li XI
Li XI

Li XI

Li XI
Li XI
Li XI

Li XI

Li XII
Li XII
Li XII

Li XII

Li XII
Li XII
Li XII

Li XII

Li XII
Li XII



B92 = — (25616 + 216) aj + 216 a2 + = a6 X — az16 5’ — Ax1¢ Z (481’1) Li XII
(2216 — 216) a3

Bgs = (2216 — 216) @1 + 216 a3 — = —ar16X — az16 ¥ + axig Z (48h) Li XII
(2216 + 2z16) a3
Bos = zi7a;+zivas+ (2v17 —z17) ag = ar17 X+ ax17§ +az17 7z (48h) Li XIII
Bos = zi7a;+ziras— (2x17 +217) a3 = —axr17X —ari7y +az7z (48h) Li XIII
Bgg = (2217 — 2z17) a1 — = —ax17X+ari7y —az17 (48h) Li XIII
(2217 + 217) a2 + 21723
Bor = —(2z17 + 217) a1 + = ar17 X —ar17y —azi7 (48h) Li XIII
(2217 — 217) a2 + 21723
Bos = (2717 —217) a1 + 2172 + 21783 = azirX+ar1ry +ari7 2 (48h) Li XIII
Bog = —(2z17+ 217) a1+z17as+z17a3 = az17X —ary7y — ari7Z (48h) Li XIII
Bigo = zi7ay + (2x17 — 217) az — = —az17 X —axr17y +ari7z (48h) Li XIII
(2217 + 217) a3
Bio1 = ziza; — (217 + 217) as + = —az17X+ar17y —axy7 (48h) Li XIII
(2217 — 217) a3
Bio2 = zira1 + (2z17 — z17) a2 + 21723 = ari7X +az17y +ari7Z (48h) Li XIII
Bios = zira; — (2z17 4 217) a2 + z17a3 = —ax1rX+az7y —axq7 (48h) Li XIII
Bios = —(2z17 + z17) a1 + z17 82 + = ax17X —az17y —axri7 2 (48h) Li XIII
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B105 = (23’517 — 2:17) a; + zy7as — = —am175< — azir S’ + axyy Z (48h) Li XIII
(2717 + 217) a3
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